S.S. Jain Subodh P.G. College, Jaipur
B.Com Semester I
Paper- Corporate Accounting
Assignment March 2025

Instructions to Students: Assignment consist of 6 questions. Students are required to attempt 3
Questions (1 from each Unit) Write questions in at least 500 Words with good presentation

BEI & for e srams—de ¥ 6 Uy g1 BT I 3 Ul BT IR ST Ma2TF ¢ | UAP 313 | %) |
U@ IR A HH I B 500 et g dNiey 3R 39 BT Ugfd & I1y g |

Questions from Section A:4 Marks 3PS AT UY 4 3P
Questions from Section B: 3 Marks 3PS BATY 3 3P
Questions from Section C: 3 Marks SHIS C YUY 3 3@
Maximum Marks (MM): 10 Pd 3fF (MM) 10
Unit |

Q1. Tirupati Ltd. invited applications for 1,00,000 of its Equity Shares of X100 each at a
premium of 320 per share, payable Z30 on application, ¥70 on allotment including premium and
the balance on first and final call.

Applications for 1,25,000 shares were received, it was decided to (a) refuse allotment to the
applicants for 5,000 shares; (b) allot in full to applicants for 20,000 shares; (c) allot the balance
of available shares pro-rata among the other applicants; and (d) utilise the excess application
money in part payment of allotment money.

Mr. Ram holding 1000 shares to whom shares had been allotted on pro-rata basis failed to pay
the amount due on allotment and call and Mr. Shyam holding 500 shares to whom full allotment
was made, failed to pay the amount due on call only, these shares were forfeited.

800 forfeited shares of Mr. Ram and 200 forfeited shares of Mr. Shyam were reissued at a
discount of 210 per share to Mr. Krishna. Show the necessary Journal Entries including cash in
the books of Tirupati Ltd.



faeufa faffee A 2 100 e d1d 1,00,000 sl 3= & foIT 220 Ufd 32 WiffH W 3frdeA
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OR

Q2. Goyal Ltd. had issued 5,000 Redeemable Preference Shares of 100 each fully called, due
for redemption at a premium of 10%. The following balances appeared in the books of the Co.:

e fafires A 2 100 91t 5,000 LT a3 AT B T 91 59 R gof =R
T et s oA, 10% g R e g1 S & gae! § e au

Redeemable Preference Share Capital. 5,00,000
Calls in Arrear (Redeemable Preference Shares) 10,000
General Reserve. 3.40,000
Securities Premium. 40,000
Foreign Project Reserve. 2.00,000

It is ascertained that:

Calls-in-arrear are on account of final call on 500 shares held by four members whose where
abouts are not known. ¥50,000 of the Foreign Project Reserve is free for distribution as
dividends. Balance of General Reserve is to be utilised for the purpose of redemption and the
shortfall is to be made good by issue of Equity Shares of 10 each at par. The redemption of
preference shares was duly carried out. You are required to give the journal entries and show
how these items will appear in Company's Balance Sheet after redemption.

Ig T1d g1 fos IR afaad! &1 Frifid fed 78 s00 Sl W if~w 41 96/ 3| 37 Afdaal
& Ud Bl TSR] el ¢ | faSsht uRaieqr §=a & 250,000 A4 & ¥4 H faqor 8 9o g |
A 9 &1 AY WeA & HIH T A1 8 3R HH &1 2 10 d1d siovel 3] & IH-Hed
eI & fob 2heH & g wel 3l g 7 fh ueR feaman siraem

Unit IT

Q3.Shah Ltd. issued 10,00,000 12% debentures at 10% discount on 1-4-2018 and decided to
redeem debentures out of profits in two equal instalments on 31.3.2022 and 31.3.2023. It was
also decided to transfer the required amount to Debenture Redemption Reserve in four equal
instalments starting with 31st March, 2019. The company invested the required amount in Govt.



Securities on 30th April, 2021. Pass journal entries for issue and redemption of debentures.
Ignore interest paid on debentures.

917e faffes 9 1.4.2018 & 2 10,00,000 & 12% BUUA 10% S R T fhd qur 3961
31.3.2022 TYT 31.3.2023 &1 &l YA fbedl T @l T 9§ Qe HA o1 Fgyg fean gg i
ol feran T fob Burgs Qe F99 @id & (o0 sira=as MR 31 A€, 2019 F YRV Hd
BU AR I fH2dl & gRamaid &t sl | St 3 1age MR 30 30d, 2021 B TWHRY
gfaryfaat 8 fafaifora a5 &1 ssorgst & ffaa qun ieq @ wsfRa ufafdat | st
R B T IS S & H 81 T@1 8

OR

Q4. What do you understand by Underwriting of shares and debentures? Explain the Provisions
of the Companies Act, 2013 regarding Payment of Underwriting Commission. Also explain the
meaning of Co-underwriting and Firm Underwriting.

3N Td HUE & T F T T THIA 52 ST FHRA & YaE S e
F AT, 2013 & YU JHINSY | Jg-AFMgT vd BH ifrioa & 3f o1 ot
gy |

Unit III

Q5. Write short note on Managerial Remuneration.

Te¥S 1 UTRYHe IR s didg feoufi ferfau)
OR

Q6. a) A limited company having a paid-up capital of % 5,00,000 in equity shares of 10 each, had
a General Reserve of  90,000. It was resolved to capitalize 350,000 out of General Reserve by
issuing 5,000 fully paid bonus shares of 10 each.

(b) A limited company with a subscribed capital of% 1,00,000 in equity shares of ¥ 10 each had
called up 7.50 per share. A bonus of ¥ 50,000 was declared out of surplus for making the existing
equity shares fully paid up and the balance was paid in cash.

(c) A limited company with a paid up capital of 80,000 in shares of % 5 each declared a bonus of
330,000 out of Capital Redemption Reserve Account payable in fully paid up equity shed a of
2.50 share.

Pass Journal entries in the above three cases.

@) U fafties &t fAffia goft 25,00,000 € S fdF 2 10 ATE 50,000 TR 4 & €, F T
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S. S. JAIN SUBODH P. G. COLLEGE, JAIPUR
B.Com. / B. Com. ABST II Semester
23ABS-5202T / 23ABS-5252T
Advanced Business Statistics
Assignment March, 2025
Max. Marks: 10

Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt 3
Questions (1 Question from each unit). Write answers in atleast 500 words with good presentation

aEl & fov @der: 3mEadc & 6 N &1 oEf # 3 WA F 3o} ST IHEWTF & (AP SHS F 1
wRe) | et UEdfd & @Y ®A @ FA 500 el # 3ok |

Section A (@ve )
Q.1 What is Graphical Representation? Explain the different Forms of Graphical Representations. 4

@R Hwqor .7 &7 [ [AEaer & faffiess ®ai $r earear Fi

Q.2 Calculate consumer price index number for 2025 on the basis of 2024, using (i) Aggregate

Expenditure Method and (i1) Family Budget Method: 4
(i) IFT =97 [T 3R (i) TR g R/ F1 3979eT a1, 2024 F AJUR W 2025 & QT
Syl Hed Fahich T IUTAT H:
Article Quantity Unit Price 2024 Price 2025

Wheat 2 Quintal Quintal 100 200

Rice 1 Quintal Quintal 160 220

Pulses 20 Kg. Kg. 1.20 2.80

Sugar 50 Kg. Kg. 2.00 3.00

Salt 10 Kg. Quintal 40 60

Oil 10 Kg. Kg. 6 12

Clothing 20 Meters Meters 3 5

Fuel 4 Quintal Quintal 16 20

House One House Per House 40 60

Section B (@vs 9)
Q.3 Write short notes on the following: 3

a) Venn Diagrams
b) Empty Set
¢) Finite and Infinite Sets

frfeiEa w afeied fefoorr ferfes:
3) 3 INE
9) Rea aqeag
T) 9RfAT 3R 3ARAT Fogeag

Q.4 Based on the following product related data determine the straight line trend and find the trend

value for 2025: 3
A foT I 3cuTes TETeud THST & IMUR IR I W7 39T HRad SRT Td 2025 & 394t
AT AT HITAT:

Year 2017 2018 2019 2020 2021

Production 8 9 8 9 16




Section C (@vs ¥)
Q.5 a) Inhow many ways a team of 11 players can be formed out of 15 players?
15 AT F @ 11 @enf2at fr vas &7 frasy alisl & 918 ST EHAT 87
b) How many permutations can be made from the following words?
fArfafad sl @ ffaa FATT s ST EFd 62
(i) PROBABILITY and (ii) DAUGHTER

Q.6 The profit for different year of life insurance company are given below:

Shraet §TAT S9=AT &7 [3THe=T aut & o A fGar = g

Year 2005 2010 2015 2020

Profit (in Rs. "000) 30.06 39.12 42.81 48.38

Calculate the expected profit for the year 2011.
a¥ 2011 & forw 3nafara amst & aorer e



S. Jain Subodh P.G. College, Jaipur
Department of Business Administration
Assignment, March 2025
Beom -Semester Il
Paper [-Business Laws

Answer three question . One from each unit./ 3eT 93T HT 3R &, Tl SHS A TH

UNIT 1
1. Explain the concept of “Conditions and Warranties” under the Sales of Goods Act,

1930. How do they impact the rights and liabilities of buyers and sellers?
g A sfufaras, 1930 & Siarfa «xrd iR waaryferal Y H&ea-1 &1 AHFEY | 98 @RI

ah!faamaffas HRPRY IR AT 1 F/ wwrfaa st §2
2. Discuss the Doctrine of Caveat Emptor under the Sales of Goods Act, 1930. What are
the exceptions to this doctrine?
a¥g fawa ftf=ra4, 1930 & Siatfa «HEaU= IEP &1 RHFa” (Caveat Emptor) TR Tl 31
79 fiiia & =1 sruaTg &7

UNIT I
3. Compare Partnership firm and a Limited Liability Partnership (LLP). What are the
advantages and disadvantages of LLP over a traditional partnership?

it BH 3R Wi Igar IR’ (LLP) 3 a1 33 | URUR® Argigrl &1 ga=m 3 LLP
& T ATy 3R gt 82

4. Explain the rights and duties of partners in a partnership firm as per the Indian
Partnership Act, 1932. How do these differ in an LLP under the LLP Act, 2008?

WRAI Argiert AfUFaH, 1932 F IFUR WRERI F ATUPR R Fdaai F T9gEel LLP

ftufraw, 2008 F TETILLP H a8 A R ga 82

Unit III
5. Explain the three-tier redressal mechanism under the Consumer Protection Act, 1986.
How does it help in protecting consumer rights?
SUHTERIT |01 , 1986 & 3iata fA-wadta Fraror & & wagmsw | 98 SuMiE
HRBRT B W FA | $A WS ga1 82
6. Discuss the concept of “Consumer Rights” under the Consumer Protection Act, 1986.
How does the Act ensure fair trade practices and prevent unfair business practices?

JuHTaar Hear AfufAan, 1986 & sidfa «Iuniaar sfteR) &t Heeu-T w99 31 98
;ﬁﬁwﬁw&rmm&ﬁaﬂﬁqﬁf&am%aﬁ?ﬁﬁammaﬁﬂﬁm



S.8. Jain Subodh P.G. College, Jaipur
Department of Business Administration
Assignment, March 2025
Beom Pass Course -Semester 11
Paper 11 -Business Communication

Answer any three.
Unit |

1.Why is business communication important in an organization? Explain with two simple
examples.

"mmﬁmﬁmmmwpamma:mmr

2What are the differences between verbal and non-verbal communication? Give two
examples of each.”

ARAF W IR-AMF TR & T 3w 7 vdw F @ Iaor A

Unit 11

3 What are three common mistakes people make in job interviews? How can they avoid
them?

ahﬁ#mwﬁmmwﬂaﬁr?hﬂmﬁﬁm%ﬁ&mﬁwmﬁ?

4 Why are team meetings important in the workplace? Mention two benefits of regular
meetings.

mwaﬂ%ﬁwmwﬁm@ﬁuﬁama:amwl

Unit Il

- SWhat are the key components of a formal business letter? Explain each component with an
example.

mmﬁawa:{;@mm-ﬂa#

B 2 YT uew Fy v
3ETET & WY FHSST”

6.What are the best practices for writing a professional email? Discuss at least five im portant
email etiquette rules with examples.

T IR A e gt

Hﬁﬂiw%‘?mﬁmﬁaw
P Rserar Pt ov e Ft ik

3% 3erToT



S.S. Jain Subodh P.G. College, Jaipur
B.com (Pass)/Subsi. - I| Sem
Paper Name: MANAGERIAL ECONOMICS
Paper-1
Assignment March 2025

Instructions to Students: Assignment consist of 6 questions. Students are required to
attempt 3 Questions (1 from each Unit). Write questions in at least 500 Words with
good presentation.
AT F o T s@msaHe § 6 T 2| =T FT 3 T FT 39 247 AT9TF 2 (T4F 361 F
1 947)| Te4% 397 H 79 F9 500 9157 g4 A0 377 37 d=at g & 77 o

Max. Marks: 10

UNIT - |
1. Explain the Role of business economics in formulation of business policies.

FTAATIAT A QAT & (HHIT | SATIATa% TFATH it w7 it 2ATAT FHii |

OR

2. What is Monopoly? How is price and output determined under monopoly in short
run and long run?

THTTEFTE FAT 27 THIAFTL & Avraiid aldhTel 3T ATTHTA § HIHT AT IeqTeA
=7 FHrerior F9 T stmar 22

UNIT - 1l
3. Describe the marginal productivity theory of distribution.

fEavor F HHTa SeaTeEar e T 90 F9

OR
4 Critically evaluate the theories of Interest.

=TS % THETaT F1 A =FATHF oaTHh F7

UNIT - 1l
5. Define national income. What are the problems faced in estimating National
Income?

UM AT & TEATT F7| TEF AT FT ATHT 90 § FT FHEATT AT 22

OR

6. Explain the measures to check business cycle.



FITI =% &l (AATAT FIA F IATAT T 2ATAT HITor0)

S.S. Jain Subodh P.G. College, Jaipur
B.com Pass Course Il SEM
Paper Name: Public Finance and Financial System in
India
Paper-2
Assignment
March 2025

Instructions to Students: Assignment consists of 6 questions. Students are required to
attempt 3 Questions (1 from each Unit). Write questions in at least 500 Words with good
presentation.

T & fau A sragade # 6 UM €1 ST &1 3 UMl &1 IR ST WP § (TP 3518
19%) | Ud® IR H $H I HH 500 et o dligT 3R 39 B Ul & a1 o |
Max. Marks: 10

UNIT - |

1. What is Public Finance? Explain its definition, meaning, importance and nature.

TGl fad 1 57 THB! URHI, 31, Hed 3R UPid &1 GHssy|

2. Explain cannons of public expenditure.

IdoH® 4 & Rgidl & are He |

UNIT - 1l
3. What is Fiscal Policy? Discuss its objectives, types, and significance in economic
development.
TR N i 31 87 39F I41, UPRI iR 1id e & 396 Agd R 9491 Bifo|

4. What is a Financial System? Explain its components and significance in the economy.

fa<ita yomelt o 82 9% Ued! 3R g # 39P Hed &I HSU|

UNIT - 111
5. What is a Financial Market? Explain its types, including the Money Market and Capital

Market.
faiia SR &1 87 39 BRI & 9Hsy, o H g1 Io/R SR Yol a9k 2MfHd g

6. What are Financial Instruments? Explain their types and significance in the financial
system.

fa<ita U 1 8§27 397 USRI 3R fa<dia yonell § 9% Hed &1 gHSSU|






S.S. Jain Subodh P.G. College, Jaipur
B.Com IV Semester(ABST)
Income Tax Law & Practice

Assignment March 2025

Instructions to Students: Assignment consist of 6 questions Students are required to attempt 3

Questions (1 from each Unit) Write questions in atleast 500 Words with good presentation &1
& forg Fr: SraTgTHe & 6 U & | BT B 3 Ul BT IR o1 HaWS § (FAD 315 4 | UH) | YD SR d 1
9 $H 500 Vea g1 TRV 3R 33 3BT Udfd & A forg|

Section-A G@Ts- A) 4*1

Q1. Enumerate any 10 incomes which are exempt from income tax and do not form part of GTI

T B 10 S BT I DI ol SABR I o & 941 Jbd P 31 H AfEferd 981 &1 Sl 3|
OR

Q.2 Rahim furnishes the following particulars of his income for the previous year 2023-24.

B A 7T a¥ 2022-23 & o1 319 311 1 7 faavor ugd faban &-

1. Income from let out house A 10,000
2. Loss from let out house B 2 40000
3. Profit from cloth business 300000
4. Loss from sugar business 30000
5. Profit from share speculation business 50000
6. Loss from silver speculation business 80000
8. Short term Capital loss on sale of shares 24000
9. Long term Capital gain on sale of Jewellery 48000
10. Income from horse race in Jaipur (gross) 25000

11. Income from card games 8000

12. Winnings from lotteries (gross) 50000

G Scanned with OKEN Scanner



13. Loss from horse race in Delhi 18000

Compute the gross total income of Rahim in old tax regime for the assessment year 2024-25.

&S ay 2024-25 P AT GRA B a1 T [HH B Fbd Hol 31 D] TUH] D |

Section-B (g?ﬂ?f B) 3*1

Q. 3 Enumerate any 10 incomes which are exempt from income tax and do not form part
of GTI.
T g 10 T BT I BT Sl ISR I Jad & adl b Hd 319 T FiEferd 7ol B
SiTelt 3|

OR

Q .4 From the following particulars of Shri Ram for the assessment year 2024-25, you are
required to find out his taxable income and net tax liability under both the regimes of taxation:

oft Im & FgferRad faavun & SyR |, e o 2024-25 F fo1T, MU I B AT 3T R ST
TR AT P S Y PR AR B AT B g |

1. Net Salary received 7,07,300
2. Tax deducted by the employer from salary 92,700
3. Gross receipts from cultivation and processing of tea 85,000
4. Expenses of tea business 10,000
5. Deposited in Tea, Coffee & Rubber Development A/c in previous year 15,000
6. Interest received on fixed deposit with Firm 45,000

Section-C (BTﬂ'QF Q) 3*1

Q.5 What do you understand by "Pay as you earn scheme"? State clearly the important
provisions of Income Tax Act regarding it.

SR ST 38 JH130 A1 J 31T 1 A 52 39 Jra F Sga S am & Agwayuf uraur=i
DI WY ARAT DI |

(} Scanned with OKEN Scanner



OR

Q. 6 What do you mean by collection of tax at source? Explain the provisions of the Income Tax
Act about it.

Il M R AR S U Y 319 R IHIA 82 39 I H 3 a0 & yraem=i & Wy sRu|

G Scanned with OKEN Scanner



S. S. JAIN SUBODH P. G. COLLEGE, JAIPUR
B.Com. / B. Com. ABST IV Semester
23ABS-6402T / 23ABS-6452T
Methods and Techniques of Costing
Assignment March, 2025
Max. Marks: 10

Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt 3
Questions (1 Question from each unit). Write answers in atleast 500 words with good presentation

ol & v @der: 3msadc F 6 wea & oEl # 3 U & 3cal ST HETF & (IAF SHS A 1
wRe) | et UEdfd & @Y ®A @ FA 500 el # 3ok |

Q.1

Q.2

Q3

Q4

Section A (Tvs @)
What is a Contract Costing? What are the different methods of calculating profit on an
incomplete contract? 4

SehT ST Siehet T &7 30T Soh I oI18Y hT I10TAT & Tafde=T faferar oram g7

Prabhat Transport Company supplies the following details in respect of a truck of 10-tonne

capacity: 4
THT ZITIE FHE=l SaRT Teh 10 T STHT aTel ¢oh o Bl & foea ol e faaor 9 &:

Cost of truck. Rs. 18,00,000, estimated life 10 years.

Diesel, oil, grease Rs. 300 per trip each way.

Repairs and maintenance Rs. 10,000 per month.

Driver's wages Rs. 10,000 per month

Cleaner's wages Rs. 5,000 per month.

Insurance Rs. 96,000 per year.

Road tax etc. Rs. 48,000 per year.

General Supervision charges Rs. 96,000 per year.

The truck carries goods to and from the city covering a distance of 50 kms. each way. On
outward trip freight is available to the extent of full capacity and on return trip 20% of
capacity. Truck run on average 25 days in a month. Work out (i) operating cost per tonne-
km., and (i1) rate per tonne per trip that the company should charge if a profit of 33 1/3 %
on freight is to be earned.

Zeh GaNT 50 Fhcllefex T gl T sk BT A AIAT ol Tl-SITT & Aol of Sl 0 qoT
&THAT T farar ured 81T &, Jafe argdr U 20% &THCT &7 & forar Baar gl e #ea &
3EasT 25 8T Taar | AT It (i) I e hateex aRErea drerd, 3R (i) 9fa a7 dr
g o 23 o W Fuet TRy v iRy 9 33 1/3% 7 o1eT 31faid el g

Section B (@vs 9)
Write short notes on the following: 1.5x2

e ) g@féica fegoof faf@v:
a) Cash Budget (%3 d312)
b) Material Purchase Budget (ATHIT T d3iC)

A product passes through three distinct processes to completion. 10,000 units were
introduced (valued at Rs. 50,000) in Process A. Following expenses were incurred: 3

Teh 3cUTe T BIet e cllel 3TelaT-37e19T Tishan3il & IRl | 9ishar T 10,000 SIS (Fed
50,000 TR o9TS T3 | REAfaf@T @ fFr AT



Process A Process A Process A
Machine Expenses Rs. 5,000 Rs. 4,000 Rs. 3,000
Labour Rs. 20,000 Rs. 30,000 Rs. 25,000
Direct Expenses Rs. 11,000 Rs. 16,400 Rs. 4,600
Normal Wastage 5% 10 % 5%
Scrap Value Per Unit Rs. 1.00 Rs. 2.00 Rs. 2.50
Actual output (units) 9.000 8.000 7,700

Prepare Process Accounts showing the cost of output and the cost per unit at each stage of
manufacture along with Normal Wastage Account, Abnormal Wastage Account and
Abnormal Effectives Account.

AT 39T WA, ATHT 39T T 3R IGHT o g & qry-are [aor &
Jedeh TROT H 3cUTest T areTa 3R wfd gfeie amerd & g2 arer wfshar @rd dar Y|

Section C (@vs W)
Shree Cement Ltd. produces the following informations:

#r dte fafaes Frfaf@a e segd axarg:

Maximum Capacity per annum 4.40,000 units
Normal Capacity per annum 3.60,000 units
Variable manufacturing cost per unit Rs. 2.20
Fixed factory cost Rs. 1,08,000
Fixed selling and distribution cost Rs. 50,400
Variable selling and distribution cost Rs. 0.60
Sale price per unit Rs. 4.00

Calculate:

a) Break-even point, P/V ratio and margin of safety.

b) Number of units to be sold to earn a profit of Rs 36,000 in a year.

c) Sales value needed to earn a profit of 10% on sales.

d) Selling price per unit to bring down BEP to 1,00,000 units to a product.

AT F:

) gAfaeSe g, ST AT 3e7aret 3R GRe&T Hia|

&1 T a¥ # 36,000 TTI FT 137 3o = & AT S St arely st Hr e
) TshT IR 10% ST 18T AToTd et o ToIT AT Tash T AT |

) 1.00,000 15T X AA-faese f8g suest aa & T 9fd sohs fasha #ea |

Calculate material variance from the following data:

i@ Ravor & gresh o i e Hifso:

Standard Actual
Material Quantity Price Quantity Price
(Ke) | Rs) | (Kg) | (Rs)
A 100 20 215 18
B 200 17 385 20
300 600
Less: Loss 30 70
Output 270 530




S.S. Jain Subodh P.G. College, Jaipur
B.Com (H) / B.com (Pass) - IV Sem
Paper | : International Trade and Finance
Assignment March 2025

Instructions to Students: Assignment consist of 6 questions. Students are required to attempt 3
Questions (1 from each Unit). Write questions in at least 500 Words with good presentation.
A1 & oy A srargTHe # 6 Uy €1 O &1 3 Ul BT SR &1 AP § (IAD 518 4 1 UY)|
Tdd IR J HH I $H 500 g g dieU AR 3 3 vdfd & 1y forg |

Unit - i 4 Marks

1. Explain the Modern Theory of International Trade.
S{ARRIPT ATIR 1 Y Rigid Hsmsul
Or

Discuss Comparative Cost Theory in detail with examples.

qa-TdS ArTd Rigid &1 fasgd 9o Iareror afgd &1

Unit - 1l 3 Marks

2. Describe the objectives and functions of the Bretton Woods Institutions.
S 489 RISl & Il 3R H1Af BT auiH H |
Or
What is the role of the World Trade Organization (WTO) in international trade?

SRR AR H 3% AR TS (WTO) B HfHebT T 672

Unit - 11 3 Marks
3. Discuss the significance of the Euro-Currency Market.

TRI-Go1 d6IR P Jgd IR Il De |

Or

What is Documentary Credit? Explain its types and significance in international trade.

GEATASN ST HT 82 THP UDR 3R SHRTIY AR H $Hd Hed B G0



S.S. Jain Subodh P.G. College, Jaipur
B Com Pass Course/Hons
IV Sem
Paper II - Business Finance

Assignment
March 2025

UNIT-I 4Marks

1. Explain the concept of financial analysis. Discuss its objectives, importance, and limitations with
suitable examples.

A< T oor & Lo T AHATSU| T 32971, Hged AT A A1 T2 ITLTE 3701 % a1 F=41 Fe |

2. No project is acceptable unless the yield is 10%. Cash inflows of a certain project alongwith cash
outflows are given below:

Fr2 ot wfarrsar =T 427 &, 717 37 10 gfFem 7 2n v aferseT F T afzatEt F o T aeaie

Year 0 1 2 3 4 5
Outflows | 1,50,000 30,000 - - - -

(Rs)

Inflows | - 20,000 30,000 60,000 80,000 30,000
(Rs.)

The salvage value at the end of the 5th year is Rs. 40,000. Calculate net present value.
The present value of Re. 1 for five years at 10% discount factor is 909, 826, 751, .683 and 621
respectively.

e A 3 e & AT 5o 40,000 7. 21 95 AT o i o e
5 & # fory U =07 7 10 T a27 72 T g7 307 7i79: 909,826, 751.683 T4T. 621 21

UNIT-I1 3 Marks

3. Explain the cash flow statement as per the AS-3 method. Discuss its significance in financial
decision-making.

AS-3 TZT F ATATE AFAT TaT faaor 7 =47y ¥ fA<frg [y o § st Ageaaot G 07 =491 $7

4. In Maheswari & Company the annual consumption of a particular item is 4,000 units. The price per
unit is Rs. 10. Ordering cost is estimated to be Rs. 60 per order. Inventory carrying cost is 30% of the
value of inventory. The supplier is offering a bulk discount of 1% on lots of 800 units. Advise whether
the E.0.Q. should be raised to 800 units.

Hesa¥l UUE FFIAT § U [F9T 7E 7 AT(0H ITART 4,000 THTSTT 2| T 91 97 10 7. Z| 3139 T 60 =
TS ST B9 FT SATATT 2| Tl TEA il AN Tl 7oF &1 30 W9 g1 Iiasar 800 THISTT & a9 97 1

ITAITT /AT Z 2 72T 21 TATE JAT914 T FAT AT AT297 ATAT H 800 THISAT T =T [2AT AT




UNIT-III 3Marks

5. Define the cost of capital. Explain its computation methods and significance in financial decision-
making.
AT T AT T TR F3) g o i E e siw A Moty o9 8 e gge i s w1

6. The details regarding three companies are given below: F Feaf=t 7 Teafeaa Fawor f5 T ™

z-
<]

X Ltd Y Ltd ZLtd
r=12% r=8% r=10%
Ke=10% Ke=10% Ke=10%
E =Rs. 50 E =Rs.50 E =Rs.50

Compute the value of an equity share of each of these companies applying Walter's formula when
dividend pay-out ratio is (a) 0%, (b) 20%, (c) 40%, (d) 80%, and (e) 100%. Comment on the

conclusions drawn.

ATee? qA T AN Fild g0 TedT HFIAL 6 H9T HT qoA AT i o4, STt ATH I qaq71a (7) 0%, ()
20%, () 40%, (T) 80% T4T (T) 100% 21| FHewut =1 fFa== fifs






S. S. Jain Subodh PG College, Jaipur
Department of Business Administration
B.Com Sem. 4

Paper-1, Retail Management
ASSIGNMENT

Attempt any three (1 from each Unit). m&fﬂq m Wg g 1) &bl T B |

Unit-I

Q.1 What do you understand by Retailer? Describe the various functions performed by a
Retailor.

Q.1 RETR I 31 1 gHZHd 82 Udh e faohar g1 Fefed fafta sraf &1 aofa a3

Q.2 Explain the different types of retailors with Examples.

Q.2 fafd UHR & a1 fashdIsfl &1 Iarerur fgd gassu|
Unit -11

Q.3 What are the various factors a retailor would consider in order to locate the store.

Q.3 U eI fadhdl TR &1 Ydl AT & ot o1 fafird RebT 0R fdaR |

Q.4 What is Pricing? Explain the different methods of pricing of a product.
Q.4 T fAuRor 1 32 et Saure & g e & fafta adie! &) amen &3

Unit- 111

Q.5 How does stock and inventory management contribute to the overall efficiency and
Profitability of retail business? Explain

Q.5 Wi 3R 34¢] Y& Fexl AR B A Gafdl R ATHIEd & $3 GRTeH odl 82
RS HRAT

Q.6 What are major problems faced by the retail sector in india ? Explain in detail.

Q.6 YR H WexT &5 & T TR THWTY 7 &2 FavaR & sare|

S. S. Jain Subodh PG College, Jaipur



Department of Business Administration
B.Com Sem. 4
Paper-2, Strategic Management
ASSIGNMENT

Attempt any three (1 from each Unit). Wd’ﬂ (Q??Eﬁ Wg B3| 1) &I 941 B

Unit-1
Q.1 Define Strategic Management ? Discuss its nature and scope in detail.

Q.1 IUFHfA® TaeH BT aRHIRE B2 3P| Udhid Td Hrdas | fawr 3 9af &3

Q.2 What do you mean by external environment ? Discuss the role it plays in strategy
formulation.

Q.2 STRI JafaRuT & 310 1 g g 2 iAo & 33! Y i) =i 31

Unit -11

Q.3 Explain the different aspects of strategic implementation.

Q.3 YHIfd® ®ral-ag & fafird gggsii &t are di|

Q.4 Write down various criteria of strategic evaluation and control in detail.

Q.4 IUHfa® HedidH SR e & faftd A el & fadR 9§ ford |

Unit — I11

Q.5 Write a detailed note on SWOT Analysis.

Q.5 SWOT fa=eiyu IR Us faeqgd e ferd |

Q.6 What do you understand by Organisational Change ? What are the major Internal and
External forces influencing the change.

Q.6 YTBTHS URAd ¥ 3T T JHIIA g 2 IRIA I YHTIId S drel! 949 Sfialked
3R 9T Wfderdl o g2



S.S. Jain Subodh P.G. College, Jaipur
B.Com VI Semester Assignment, March 2025
Management Accounting

Maximum Marks (MM) : 10 iﬂ' 3 (MM): 10

Instructions to Students: Assignment consist of 6 questions. Students are required to attempt 3
Questions (1 from each Unit). Write questions in at least 500 Words with good presentation.

ol & v Aden Idsade # 6 9 &1 OE A 3 URAT FT 3ca} &l IETSF § (FAh SHS
| 997) | FdF ek H A F A 500 e g4 TRV AR 38 3= wedfa & @y o)

Section A / 3FTS A
1. What is meant by the term "Leverage? What are its types? Explain in brief.

3cdieleh ¥ AT T A &7 I8 Tohdel YR &I gidT g7 &I H AHAHBU]

2. Define Management Accounting. Discuss the nature and scope of management accounting.

USTH oidiehel I ARG FISA| Teets oiiened S Fehfd dUT &7 i eareadr Hifs|

Section B / §#F1S B
3. From the following information prepare a Balance Sheet of A Ltd.

rfaf@a gaar @ A faffes @ fgr sasd -

a) Current Ratio 2.5

b) Liquid Ratio 1.5

c) Proprietary Ratio (Fixed Assets/Proprietary Funds) 0.75

d) Working Capital Rs. 120,000
e) Reserve & Surplus Rs. 80,000
f) Bank Overdraft Rs. 20,000

g) There is no long-term loan or fictitious assets.

4. What do you mean by common-size statements? Discuss its utility for management and its
limitations.
MY FAFTER AR I W € ? Ue B oIy gwe SuGaT qaesy de SHel WA
A o |

Section C / %18 C
5. Give a specimen of Cash Flow Statement by Indirect method using imaginary figures.

Hoeaer R & Frealaes THA $ HUR R A3 Ta16 FaRoT H1 oo Q|

6. Jai Drinks Ltd. has under consideration the following two projects, the details in respect of
which are given below:

rfaRag @1 uRaeAR o e fofice @ fanefw 2, 39 9= ¥ fQgwor i g W &:



; Project A | Project B
Particulars Rs. Rs.

Cost of investment 1,00,000 1,50,000
Working Capital Required in the Beginning 50,000 50,000
Economic Life 4 years 6 years
Salvage value 10% 10%
Average Tax Rate 50% 50%
Profit Before Depreciation and Tax 12,000
Year
1 80,000 1,50,000
2 80,000 90,000
3 80,000 1,50,000
4 80,000 80,000
5 - 60.000
6 - 30.000

Evaluate the two alternatives according to :

TMl fAped &1 At & o gaR JeuisT FIfva—

a) Pay back Period Method (3rgTaft 3rafer fafer)

b) Unadjusted Return on Average Investment (3i9d fafeamT w sraamifoG geam )

c) Net Present Value Method (Cost of Capital 8%) (& ad=ed A (Ioil &1 @FE 8
wfcrera)

Suggest which project is to be preferred (gzma R H= RIS B grRIfrdar & S

ey |)



S.S. Jain Subodh P.G. College, Jaipur
(An Autonomous Institute)
B.Com VI Semester
Advanced accountancy

Assignment March 2025

Instructions to Students: Assignment consists of 6 questions. Students are
required to attempt 3 Questions (1 from each Unit) Write questions in at least 500
Words with good presentation

B & fore 3w sraTs—He A 6 U B1 B B 3 UM BT ITR T SIS g
TP 3PS 1 UY) | TP IR & HH T $H 500 Use g1 T 3R 3T 33
Udfd & I1y ford|

Questions from Section A:4 Marks g’iﬁ]ﬁ AQUY 4 3P
Questions from Section B: 3 Marks g‘&ﬂé BIAUY 3 3P
Questions from Section C: 3 Marks gﬁa‘r‘g‘ C A UY 3 3P
Maximum Marks (MM): 10 Fd 3P (MM) 10
Unit-1

1. What in Value Added Accounting? Haw Value Explain with an example
Added in generated and how value added is distributed?

T YaeH TRaidh- 1 82 3 Y JHST ST § 3R Hed Jae Ha
ITA Gl ¢ 3R SHPT fAdRul B ot SiTat g2

OR



2. The following is the balance sheet of Aditya Lid on 31 Marsh. 2023:

31 AT, 2023 P 3 for. o1 fereT Fofafea 8

Balance Sheet of Aditya Lnd as on 31 Manch 2023

Particulars Figures as at
31* March,2023
1. Equity and Liabilities
(1) Shareholder’s Funds
(a) Share Capital
Authorized: 10,000 Equity Share Capital of Rs. 100
each 10,00,000
30,000 10% Pref. Shares of Rs. 10 each 3.00.000
13.00.000
Issued and Subscribed:
2,000 Equity Shares of Rs. 100 each fully paid 2,00,000
20,000 10% Pref. Shares of Rs. 10 each fully paid 2,00,000
(b)Reserve and Surplus
Profit & Loss A/c (Dr.) (90,000)
(2) Current Liabilities: Sundry Creditors 30.000
3.40.000
Total
II. Assets
(1)Non-Current Assets
(a) Tangible Fixed Assets: Fixed Assets at cost 1,80,000
(b) Intangible Fixed Assets: Goodwill 50,000
(2) Current Assets: Stock in Trade 50,000
Book Debts 60.000
Total | 3.40.000

The following resolutions were passed and the scheme was duly approved is the
court:

fafefad uedra uild favu 71T A SR AieH1 &1 <arred g1 fafdad deidl ur
g




(1) Equity shares of Rs. 100 each is reduced to fully paid up equity shares of Rs.
50 each.

Ud® 100 ¥UY & il 3R DI YT 50 YT & YUj YT fdhuT U
Sl i< & gear S|

(2) 10% Preference Shares of Rs. 10 each be reduced to 10% preference shares
of Rs. 6 each filly paid up

U 10 399 & 10% A 3 D GCTH 6 3TL & 10% YA 3
T &1 feU Sun

(3) Goodwill and debit balance of Profit& Loss Ale he written off completely.

B SR A1H- 811 & Sfae A9 & Ot dvg T JH o fear s

(4) The balance amount of Capital Reduction A/c if any available, used to write
off the sundry fixed assets.

Goil HH! G 1 AY AR, Ffe Igas g1 ot I3 fafae wirdt dafat o1
T B & fold IganT fban Su |

(5) Authorized share capital is to be maintained at its original amount.
U 32 Yot bl IHD! T MR TR §H1Y @7 ST |

Give journal entries and prepare revised balance sheet of the company.

oI ufafdar € ofR durt o1 TN fagT TR &1 |

Unit —1I

3. What is amalgamation of companies? How purchase consideration is
determined for amalgamation of companies? Explain

SHUHT] BT YbdUl 1 g2 HUl-al & [dad & fo1e ha Hed by FHufid
foaT ST g2 AR Y 1"

OR



4. What is Lev Schwartz Model of valuing human resources How does it differ
from Hermannson's Model?

AT W1 BT Gedidh1 b1 dd YIcol Alsd 1 g 2 I8 Alsd gHAST &
A8 (Model) ¥ Y 37 82
Unit —III

5. Write a detailed note on the following-
(1) Social Accounting

SIS CANICICE)
(ii)  Social Responsibility Statement
S IS faaur

(111) Corporate Social Reporting

TH TSI Ufdde
OR

6. B Ltd. went into voluntary liquidation. The details regarding liquidation are
as follows

o1 faftres Wfess qug & =l T | gure Srei gaan Agfeiad
e

Share Capital:

4,000 8% Preference Shares of Rs. 100 each (Fuily Paid up)
Class A 4,000 Equity Shares of Rs. 100 each (Rs. 75 Paid up)
Class B 3,200 Equity Shares of Rs. 100 each (Rs. 60 Paid up)
Class C 28,000 Equity Shares of Rs. 10 ench (Rs. 5 Paid up)

Assets including machinery realized Rs. 8.40,000. Liquidation expenses
(including remuneration of liquidator) amounted in Rs. 30,000. The
company has borrowed a loan of Rs 100,000 from Patil Bros. agnint the



mortgage of machinery (which realised Rs. 1,61,000). In the books of the
company salaries of eight clerks for four months at a rate of Rs. 300 per
month and salaries of eight peons for three months at a rate of Rs. 150 per
month are outstanding.In Addition to this, the company's books shows other
creditors worth Rs. 1,74,800. Prepare Liquidator's statement of receipts and
payments.

gl (TR gigd) I . 8,40,000 U §U | FHUA o4 (S IH1USh
o1 Ui qrferd 8) . 30,000 & A1 ST 7 AL (ot ot 9
¥. 1,61,000 U g0) DI IRA! I@HR UIfed §&d T T 1,00,000 BT BT
foraT| Hro &1 Gedo! § 3113 feifUh] &1 IR |18 &1 dd- . 300 Ufd A8
DI R Y AU TS JWRIRT DT i HIG BT 9 . 150 UfdHIg Bl R A
THIT AT 3D SR I B G&ID] § F. 1,74.800 P 3 d1GR
S U | GHYS BT WG] YA fdavor GaR Hifog|



S.S. Jain Subodh P.G. College, Jaipur
B.Com
Semester-VI
Paper Name: Business Ethics and Corporate Governance
Assignment - March 2025

MM:10

Attempt any three out of six (1 from each unit).

Unit-1

Q1. Explain the importance of Business Ethics.
G Afdddl H1 Hed THIS |

Q2. Discuss the difference between ethical and unethical business practices with example.

Ie1erv Ifed Afde 3R Afae saraaiis uurs & €9 3idk W =i &1

Unit-11
Q3. Discuss the importance of Corporate Social Responsibility.

PIARC JHTID IR & Hgd IR Idf de|

Q4. Explain the gandhiji’s doctrine of satya. .
TSl & T & Rgid & Trer a3

Unit-111
Q5. Explain the need of corporate governance.
DIURE YR DT AT Pl FAHZY |
Q6. Write a detailed note on International Corporate Governance Practices.

SRS HIURE YT YY1 R Ueh fawgd e ford |



S.S. Jain Subodh P.G. College, Jaipur
B.Com
Semester-VI
Paper Name: E-Commerce
Assignment - March 2025

Attempt any three out of six (1 from each unit).

Unit-1
Q1. Define E-Commerce. Explain the process of E-Commerce.

- 1oy Bl URHIMNT B3| $-HIAY 1 ufshar THza |

Q2. Write a detailed note on Mobile Commerce.

s a1forsd IR U fawgd e ford |
Unit-II

Q3. Describe the importance of E- Banking.
5-sfhT1 &b Hegd T 9 PR |

Q4. Write a short note on Data Warehousing.
ST HUSRUI IR U g e ferd|

Unit-I11

Q5. Describe the steps of Website Management.
JaEISC Ueit & =R BT qUiH B |

Q6. Write a detailed note on Business Intelligence.

foora gefercia ©R Ue fawqgd e ford|

MM:10



S.S. Jain Subodh P.G. College, Jaipur
B.com (Pass)/Subsi. - VI Sem
Paper Name: Economy of Rajasthan
Assignment
March 2025

Instructions to Students: Assignment consists of 6 questions. Students are required to attempt 3
Questions (1 from each Unit). Write questions in at least 500 Words with good presentation.
Bl & forg Frdwn srargTe # 6 % &1 B B 3 Ul BT IR 31 IMaRS § (AP 3PS
17 | U IR A HH A HH 500 sk g7 AoV SR 3 o] i & a1y ford |
Unit 1
1. What are the different physical regions of Rajasthan? How do climate, vegetation, and
soil differences affect farming in these regions?
SR & SHTHT-ATHT HIfdD &F HH-HIH 9§ 82 SIearg, aawfa 3R gt 7 oiaR
S Gell BT gHIfId Bl 87

2. Why is animal husbandry important for Rajasthan’s economy? What problems do
people face in sheep and goat farming, and what steps has the government taken to help

them?
RIS Bt SrfeaeyT & URUIea i Hedqul 87 S 3R g Ura § ®IH-D14 Ot
JHEI Tl €, 3R PR A I Ae & [y 71 HeH I &7

Unit 2
3. How have small and cottage industries grown in Rajasthan? How does the government
support these industries with money and policies?

TSR H B 3R FER I HY 9¢ 82 PR 37 Ia1 &1 T R i A H
HeE Pl 82

4. How does tourism help Rajasthan’s economy? What are the major problems in the
tourism industry, and what can be done to improve it?

e ISR B 3Ry H HQ He e PRl 82 Y IeNT Pl 7y AR 1 8,
3R 3 8} g9 & foru 1 fan & et 82
Unit 3

5. What are the main problems of poverty and unemployment in Rajasthan? What steps
have been taken to solve these issues?

TSR B TR 3R SRISHTR &1 I8 GHRITE &l §2 31 GHRIIS &1 §d H1 &
o o1 HeH I3 T 82

6. What are the main minerals found in Rajasthan? How do they help the economy, and
what difficulties come in mining and using them properly?

ISR B -5 F Wil e 82 3 rforan § $3 Heg #d o, 3R 3%
G 3R T sXaAE o 1 gfEwd o 82



S.S. Jain Subodh P.G. College, Jaipur

B.Com — Sem -VI
Paper -2

Paper Name: Project Planning and Control
Assignment March 2025

Instructions to Students: Assignment consist of 6 questions. Students are required to attempt 3

Questions (1 from each Unit). Write questions in atleast 500 Words with good presentation.

gt F forg fR&er: ez § 6 w1 31 T AT 3 WAl FT 39 AT AFGTF 2 (TAF THEE A |

W) T 39 H FH F FH 500 9757 ZIA ATRT AT 36 FAoa 1 Teqid 5 914 fored

Unit- 1

Q1. Define project planning its importance and techniques of project planning

gfvarsaT s 1 ot 9, =99 7eag 3w atarear s i Tt

F afrarud w7

Q2. Define project management. Explain its functions and characteristics

Unit -2

Q3. (Differential Cost): The following extract from the flexible budget of a manufacturer of

'Stoves' are as follows:

(Frsras @) ‘= & Rt ¥ =i awe 9 At sger e e &

90% Capacity 100% Capacity
Sales 1,10,000 1,20,000
Fixed Expenses 10,000 10,000
Semi-variable Expenses 8,000 8,500




Variable Expenses 9,000 10,000

Output in Units 10,000 11,000

Labour and materials costs per unit are constant under present conditions and profit margin is
10% on sales. The company is working at 90% capacity at present. There is a proposal to

increase capacity to 100%. Advise the management about this proposal. AR T FAdAT H
afar af¥e 97 T arRit fit arra B9 g o7 @6t 97 a1 |/rtee 10% g1 9T herse 90
FIE AHAT UL FTH T TG0 . AHAT F 100% TF T219 F7 Ied19 gl TH T5q19 & 14 F qa97

Q4. Write a short note on analysis of risk and uncertainty of projects.
TSt F Jaw i afataraar F Fgoor uv v gferg 71 o

Unit-3

Q5. What is project control? Also explain the control process and issues in project control
afvarsT =T 77 8, aiversr e 7 e g siw g2t i o e w1
Q6. Explain PERT, CPM model with an illustration

PERT, CPM HT=Se Fil UF IaT70T Afgd GHATSUI



